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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-4 0

Warning: col ['minFViraw , 'minFVOraw’ ] is missing

minFVI
minFVO

1. 04 A

1.02 A

1. 00

0. 98 -

0.96

Warning: col [ ETcAlraw’, "ETcAl",

"ETcA2raw’, "ETcA2]] is missing

—@— ETcA

1.0

.0 0.2

0.4

e
o

0.8

0.8 -

0.6 1

0.4 -

0.2+

Warning: col ['ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

2600

2400

2200 -

2000

1800 ~

1600 ~

1400 ~

1200

Warning: col ['ECC’', 'ECI', 'ECO']

is missing

Warning: col ['PHC', 'PHI', 'PHO']

is missing

—@— PHopt

31.5 A

31.0

30. 5

30. 0

29.5

29.0

28.5 -

Warning: col [ WCperMraw' , 'WCperMavg'] is missing

—@— WCperM

—@— minDeltaM
—@— avgDeltaM
—@— stdDeltaM

30 A

28 A

26 A

24

22 -

20 A

adjFVOR

Warning: col ["adjFVIRraw’, "adjFVIR, "adjFVORraw' ] s missing

Warning: col ["FRAT] is missing

57.5

55.0

52.5 -

50. 0

47.5

45.0 -

42.5

—@— beg wc

0 10

20

30

40

600 -

500 -

400 -

300 A

200 ~

100

o postFgEtraw
—0— postFgEtavg
—@— postFgEt




- 100

- 60
- 40

FgDai ly




P3-4_0

o
—
- o —_
L
[a
+ K +
o]
=)
©
=)
|
<
=)
Q)
=
%)
n
1S5
mrm
- N
= - .
> o
—Yl_
©
- o -
.g.u
c
=
P -
©
=
()

- - = C
— ® — o
[S o] O O O
- - = = -
w o w o

o
T T T T T - T T T T o T T T T T T T T T T T T T T T T T
o o o o o o o O [ce} © < N o N o (<o) © < N O o o o o o o o o o o o
N o <] © < N — o o o o o © Is} < ™ N — ™ ™ N N —
— —

400

100

800

600 -

400 -




1.0
0.8
0.6
0.4
-0.2
-0.0
--0.2
-0.4
-0.6

ETol ETbai pR pVPD | PPFD T

ESo

ETcPT ETclis

ETcldef ETcP

ETcl

_om_ 3#9p[213 d°13 n_ohm_ si1o19 owm_ _om_ _mn._.m_ yd adnd cu_n_n_ HY



1200 -

1000 -

800 -

ETcl

600 -
400 ~

200 -

1750 -
1500 -
1250 -

o

5 1000 A

750

500 -

22 -

20 A

18

16

14

12

80 A

70

RH

60 -

50 ~

40

400 -

300 -

200 -

100 ~

T
250

T
500

T
750
ETcl

T
1000

T
500

T
1000
ETol

T
1500

T T
125 15.0 17.5 20.0 22.5 40 50 60 70 80 100 200 300 400



hour

105 -

:10 -

15 -

:05

:00

:55

:50

145

:50

:05

100

:00 -

80

- 60

- 40

20

’%‘%’ "lé 4 S




P3-4

BfiE) | EBIETK (D) | EE (EH/R) | XK SRR

08:10 231 150.0 & FiHfe08:10 KEFIEF (KRFEERES)
09:05 231 150. 0 5| THAe09:05 KENFERF (RFI1ERLEE)
10:00 231 150. 0 5| FiHe10:00 REFEEF (KEAERSR)
10:55 231 150. 0 5| TiHe10:55 REFEF (RKEAERSE)
11:50 231 150. 0 5| Fffe11:50 KENFERF (RE1EREE)
12:45 231 150. 0 | FiHfe12:45 RHEF (KREEZSR)
13:50 231 150.0 5| TiHe13:50 REEF (KEAERESE)
15:05 231 150. 0 5| Ffe15:05 KENFERF (RE1ERGEE)
2it]1848.0 (8%) 1200.0 3203 KEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (476), set to 450.0 ml.

RE R i BlRECKIE TR K.

RER B HEREC/PHEERK, AT

INA=A
BEFS

MR R SR




FRV (ml plant-1)

ET (ml/hr/plant)

P3-4_0, Day=28 (2025-04-26)

V1, V0,'®RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET
0.8 1 L 1000
81 833

0.4 - - 500

00 00 00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.5

0.2~

0.0
600

- 1500

ByWoFyv @D2p 02:41: ET=833 Fg=1200.0 Ro=97.0 - e— —

400 7 L 1000

® L 2 o— - 500

I

1

1
4 1
200 g ® |
1
1

1.0

0.8 fA i i i i i i i i i B B B 5 BA 5 5 5 B 5 5 5 B 5

0.6 1

0.4+

0.2~

800 4
600 -

400 ~

200 ~

0 \ A A Warhing:,‘:ol [Al

"PPFD_obs’] is missing

20 -

15

10

._col ['T obs " To obs'] is missing

90
80 -
70

60

"RHo_obs’ ] is missin

50 4 —— RH __Warning: col [’ RH_obs’,

0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

145

:00

:05

:10

100

80

- 60

- 40

20

’%‘%’ "lé 4 S




P3-4

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R
07:20 210 150.0 F[ BRi%e07:20 Fz1 (GRAERESE)
08:10 210 150.0 = {RRiB008:10 Fzh (FRFAKEE)
09:00 210 150.0 5| {Ri%@09:00 F3h (FRAERSE)
09:50 210 150.0 S| {Ri%@09:50 F 3 (FAERSE)
10:40 210 150.0 5| Ri&e10:40 Fz) (REAERS)
11:45 210 150. 0 5| 1Ri%e11:45 F5 GREAERE)
13:00 210 150.0 5| {Ri%e13:00 F3h (FAEHSE)
14:05 210 150.0 5| Rike14:05 Fz) (REAERS)
15:10 210 150.0 E BRige15:10 Fz1 CGRAERESE)
23t[1890.0 (9%) 1350.0 3203 KEC: 2080.0, PH: 6.5

RE X it B RECEUIR Bk

RER R HEREC/PHIE SRSk, T RESSIMIERL R 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=27 (2025-04-25)

T e g g g S B S g

VI, VQBRY, ET — VI, VO, FVI, FVO, FRV, ad jFRV, ET 1054
3 - 1000

100 A

- 500
50

00 Warning: lcol [FVI',| "FVO’'] missing b o

150 +

- 25
100 - "
- 20 =

50 - - 15

- 10

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

600 4 Bylnit @D28 02:41: ET=1125 Fg=1500.0 Ro=131.0

- 2000
400 -

- 1000

o & o

| I —
V=N A =N 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

600 ES 3 e B =3 3 =3 B ES [ES = = = = = = = = = = = = = =

200

b = ey =

400 - ByEt @27 18:42: ET=1510 Fg=1416.0 Ro=nan : - 2000

200 - L 1000

—
0 1 2 3 4 5 6 7 8 9 10 | 11 12 { 13 ] 14 | 15 | 16 | 17 | 18 | 19 | 20 | 21 22 | 23
0TTE |7 | | W (2|2 (2| M | W | W | W | m | | e | R | R | me | mE | R | WR [ WR | WE | WE| W

1
ByWoFy @D28 02:41: ET=1054 Fg=1350.0 Ro=100.0 - 2000
| 8 & & o

400 -

200 - L 1000

1.0 ;. >

0| B | T | & | % Bnlsz|on | | | % | | w | % | m|w | % | m|w| % w65 "6

0.6

0.4+

0.2~

| 4
| _obs
PPFD_obs

e v P

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



11.

11.

10.

m=510, FV0=0

- M_E 10. 50 - e M_E
5 1 10. 48 -
10. 46 -
0_
10. 44 -
5 4 10. 42 -
TR = 10.40 1
T T T T T T T T
500 600 700 800 900 510 515 520
m=720,m FV0=0 m=780,m FV0=0
0
11. 00 A
81 10. 98 -
6 - 10. 96 -
4 - 10. 94 -
2 10. 92 -
Warning: col ['M_E’] missing °
10. 90 A M_E
0 T T T T T T T
0.0 0.2 0.4 0.6 0.8 1.0 780 785 790
m=510, FVO0=0 m=600,m FV0=0
1.0
BT o= mw
0. 8 1
42
0.6 -
41
0.4 -
40 -
0.2 A
39 4 Warning: col "MW ] missing
T T T 0-0 T T T T
510 515 520 0.0 0.2 0.4 0.6 0.8
m=780,m FV0=0 m=840, FV0=0
—— MW . —— MW
47
46
46
45
45
44 -
780 785 790 840 845 850

11

11.

11.

11.

11.

11.

.0

1.0

m=600, FV0=0

0.8 -

0.6

0.4+

0.2+

0.0

Warning: col ['M_E'] missing

0 0.2

T T
0.4 0.6 0.8

m=840, FV0=0

. 60

58

56

54

52 A

50 A

M_E

8&5 8%0
m=660,n FV0=0

T
840

46 A

45

44 -

43 -

42 -

—o— MW

660 665 670

10.

10.

10.

10.

10.

10.

m=660, FV0=0

30

28

26 -

24

22 -

20 A

M_E

T T T
660 665 670

48 A
—o— MW

:j\ j

42 -

40 -

560 660 760 860
s m=720,m FV0=0

0.8 A

0.6

0.4 A

0.2 A
Warning: col "MW ] missing

00 T T T T
0.0 0.2 0.4 0.6 0.8

1.

0



hour

:55

100

80

- 60

- 40

20




P3-4

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

04:10 240 130.0 E BRi&e04:10 Fzh CGRAERESE)
05:10 240 130.0 5| {Ri%@05:10 F3h (FRAERSE)
07:15 240 130.0 = {RRiB@07:15 Fzh (RFAKEE)
08:05 240 130.0 E 1BRi&e08:05 Fz (RAEREE)
08:55 240 130.0 5| {Ri%@08:55 F 3 (FFAERSE)
09:45 240 130.0 = {Rig@09:45 F 3 (KRAERSE)
10:35 240 130.0 S {Ri%@10:35 Fz (RAERSE)
11:40 240 130.0 E| {Rige11:40 Fzh (GREERSE)
12:50 240 130.0 E|  {Rige12:50 Fzh (KRE{EREE)
13:55 240 130.0 | {Ri%@13:55 F31 (RS
14:55 240 130.0 E BRige14:55 Fz1 CGRAERERE)
16:00 240 130.0 F[ BRige16:00 Fz1 (RAERESE)
24t 2880.0 (12%) 1560. 0 32K EC: 2080.0, PH: 6.5

EREBRTK (240) 5FuEA (200. 0) R, FIRER T % @EI#EIRS X XER

2RI\ PRIERE156.0 ml.
RE R i3k [B] RECEIB Hh ok

RER Bt HEREC/PHERRK, TTRESS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

I

b

P3-4_0, Day=26 (2025-04-24)

100 A

50 A

V1, VO,'®RY, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

81

Warning: lcol [FVI',| "FVO’'] missing

00

200

150 A

100 A

50 -

- 1000

- 500

- 25
NN]
- 20 =

- 15

10

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.5

Warning: lcol ['PHB’,| 'PHC’'] missing

p—— \ 4

i Yo s

]
Bylnit @D2B 02:41: ET=1098 Fg=1170.0 Ro=142.0
I
1
I
]
i
I
I
I
I
1

- 2000

- 1000

0 1 2 3

7 | 5

6

7

11

12

13

18

20

21 22

23

BB | BB | B | B

BB | B

[

i

E3 ES
5 G

ES
5]

=
B

E3
B

E3
B

=
B

E3
B

E3
B

ES
5]

600 -

400

200 -

ByEt @D26 18:43:

ET=1152 Fg=1066. 0 Ro=nan

- 2000

- 1000

800 4

16

17

18

19

20

21 22

23

BB | BB | B | B

BB | B

i

=
B

E3
B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

600 -

400

200 -

]
ByWoFyv @D2§ 02:41: ET=998 Fg=1560.0 Ro=122.0

1.0

- 2000

- 1000

12

13

14

15

16

17

18

19

20

21 22

23

0.8

=
B

E3
B

E3

B

ES
5]

=
B

£3

B

E3
B

ES
5]

=
B

E3
B

E3
B

ES
5]

0.6

0.4+

0.2~

0.0
1500 A

1000 ~

o | _obs
—@— PPFD_obs

RH
RH_obs
RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



10.

10.

10.

10.

10.

T
600

T
700

500 800
m=720,m FV0=0
2077 _@— M_E
15
10
05 -
00 -
T T T
720 725 730
m=510,m FV0=0
—— MW
36 -
35 -
34 -
33 -
510 515 520
m=780,m FV0=0
46
—— MW
45 -
44 -
43 -
42 -
780 785 790

m=510, FV0=0

10. 6

10. 4 4

10. 2 A

10. 0 A

9.8 4

; t

5%5 5é0
m=780,n FV0=0

10. 20 A

10. 18 A

10. 16

10. 14 A

10. 12 A

10. 10 -

——

M_E

7é5 7é0
m=600,n FV0=0

38 -

37 A

36

35

600

665 6%0
m=840,n FV0=0

47 -

——

46 -

45 -

44

M_W

840

845 850

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

m=600, FV0=0
10
08 -
06 -
- ME
04
02 -
00 -
T T T
600 605 610
m=840,m FV0=0
2077 _@— M_E
18
16
14
12
10
T T T
840 845 850
m=660,m FV0=0
—— MW
41 -
40 -
39 -
38 -
37 -
660 665 670

m=660, FV0=0

10. 10 A

10. 08 -

10. 06 -

10. 04 A

10. 02 -

10. 00 -

M_E

T
660

T
665 670

47.5

45.0 A

42.5 A

40.0 A

37.5 4

35.0 A

32.5 A

M_w

T T T
600 700 800

m=720,m FV0=0

44 4

43 -

42

41 -

40 -

M_W

720

725 730



hour

125

125

125

115

:05

:55

:05

100

80

- 60

- 40

§_

S B & L B K
- SO
N Q\S\ —:@/ %\9{) I )\%\

%
T
%

%

3,

R
-



P3-4

BfiE) | EBEETIC (FD) | EB=E (BAH/HK) | XK R
08:30 210 130.0 F[  1BR1%e08:30 F a1 (RAERE)
09:20 210 130.0 S {Ri%@09:20 Fz (KRAERSE)
10:25 210 130.0 5| {Ri%e10:25 F3 (RAERSE)
11:25 210 130.0 & 1Ri%e11:25 F5 (REAHERSE)
12:25 210 130.0 E BRige12:25 Fzh CGRAEESE)
13:15 210 130.0 E BRige13:15 Fa1 CGRAERESE)
14:05 210 130.0 S| {Ri%e14:05 F3h (RAERSE)
14:55 210 130.0 5| Rike14:55 Fz) (REAERS)
16:05 210 130.0 E BRige16:05 Fzh (GRAERERE)
21t 1890.0 (97%) 1170.0 EWHKEC: 1900.0, PH: 6.5

RE R [B] TRECHUR B ok

REREBEEHEREC/PHE SR, T RS IMIEEL RS




P3-4_0, Day=25 (2025-04-23)

V1, VO,'8RY, ET - VI, V0, FVI, FVO, FRV, adjFRV, ET

100 - - 1000
8181
64
50 A - 500
00 Warning: lcol [FVI',| "FVO’'] missing 40
0 r0
. 150 4 FRV — WE P30
*IE ____________________________________________________________________________ maxM.._ 95
©
— 100 ~ w
B 20
£
— 50 L 15
x
o
10
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
808 5 7
— Bylnit @DZF 02:41: ET=1129 Fg=1430.0 Ro=116.0 ?
P ! 2000
()]
—_ ] 1
o 200 i e—eo | 1500
< : & ©
£ ! [ 1000
E 100 - I
= : - 500
IR
A==f—=— I
300 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
= i | B | B K| B | B|[B|B| B[ KB B 5 5 5 B 5 5 5 B 5 5 5 B & | 2000
c 1
()]
— 4 . . = = = 1
€}200 ByEt @D25 18:39: ET=1559 Fg=1466. 0 Ro=nan : ~ Py ° L 1500
< —o—o—0—o
< i
£ 100 | N wu | ! 1000
= : - 500
1
= —=n—= 2 —
300 3 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
= iE | B | BB | B | BB | B|B|[B]| B 5 5 5 B | Z=| BB 5 B 5 5 5 B & | 2000
= 1
%_200- ByWoFv @DQ? 02:41: ET=1101 Fg=1170.0 Ro=139.0 L 1500
=
o 1
<
< 1 *—@ ® ©
> - 1000
ZE 100 - : pu Iy ™
= : - 500
1
1 O.IEEEE.EESE.F—- 2 2 e R 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
BB | B B m B |m B |m | B|w B % [ B [% (2% &% & &[5 |%[&
0.6 -
0.4 1
0.2 A
2000
—_— 4
1500 - [ ) | _obs

PPFD_o

bs

RH
RH_obs
RHo obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



11.2 ~ - M_E
11.0 A
10. 8 A
10. 6
T T T T T
500 600 700 800 900
m=720,m FV0=0
10. 70 -
10. 68
10. 66
10. 64
10. 62
10. 60 - M_E
T T T T T T
724 726 728 730 732 734
m=510,m FV0=0
35.0
—-— MW
34.5
34.0
33.5
33.0
32.5 A
32.0
510 515 520
m=780,m FV0=0
—-— MW
38 A
37 A
36
780 785 790

10.

10.

10.

10.

10.

10.

11.

11.

10.

10.

10.

10.

35.

34.

34.

33.

33.

32.

m=510, FV0=0

70

68

66 -

64 -

62

60 -

M_E

T
510

5%5 5&0
m=780,n FV0=0

——

M_E

7é5 7é0
m=600,n FV0=0

600

665 6%0
m=840,n FV0=0

40 -

39 -

38 -

37 A

—o—

M_W

840

845 850

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

10.

36.

36.

35.

35.

34.

34.

33.

m=600, FV0=0

60

58 ~

56

54 -

52

50 A

M_E

600

T T
605 610

70

68

66

64

62

60

m=840,m FV0=0

-o— M_E

840

8&5 8%0
m=660,n FV0=0

——

M_W

660

665 670

m=660, FV0=0

11.0 4

10. 8 4

10. 6 A

10. 4 4

10. 2 4

37.

37.

37.

36.

36.

36.

36.

——

M_E

T
660

T
665

670

40 -

38 A

36

34 -

32 -

M_w

500

660 760
m=720,n FV0=0

T
800

50

25 -

00 A

75 A

50 -

25 A

00 -

—0—

M_W

724

726 728 730

732

734



hour

100

80

- 60

- 40

§_

%

%

e
6\
%
7
e
-
%,

o

\ R
N N
S
Q\z\ %7\

2
>
L

&

£

%,
&

At ’@(26_.?
%

%

%



P3-4

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

06:15 200 120.0 E BRi&e06:15 Fzh (RAEREE)
07:05 200 120.0 5| {Ri%@07:05 Fzh (FAERSE)
07:55 200 120.0 = {RRiB@07:55 Fzh (RFAEEE)
09:05 200 120.0 5| {Ri%@09:05 F3h (KRAERSE)
10:15 200 120.0 El BRi&e10:15 Fzh CGRAEREE)
11:20 200 120.0 =l Rige11:20 F31 (REAERSE)
12:20 200 120.0 El BRige12:20 Fzh CGRAERESE)
13:10 200 120.0 E| {Rig013:10 Fzh (GREERSE)
13:55 200 120.0 F BRi%e13:55 Fa1 CGRAERESE)
14:40 200 120.0 S {Rig014:40 F3 (RAERSE)
15:35 200 120.0 5| {Ri%e15:35 F3 (RAERSE)
16:50 200 120.0 5| 1RiR@16:50 Fz (KREAEES)
24t 2400.0 (12%) 1440.0 3ZHKEC: 1900.0, PH: 6.5

RE R B RECHIR TR K.
RER BB HREC/PHIEER K, FIRERIMIRELR SR



P3-4_0, Day=24 (2025-04-22)

VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 1133
100 -
- 1000
6465
90 1 L 500
27332
00 I_I Warning: lcol [FVI',| "FVO’'] missing 40
0 -0
1504 FRV — ME {30
T maxM
g  pm====—ke——===bo———--be-———=-4.----A--4-------8-+---""" e 1 25
5 100 A Ll
= - 20 <
E
550- _15
o
10 10
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2300. 0,  TargetSetEC=1900. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
908 7 —— ,
— Bylnit @DZP 02:41: ET=1102 Fg=1200.0 Ro=146.0 K
> 2000
§ 300 - !
2 ! - 1500
o 1
< -
< 200 : - 1000
E 1
100 7 : - 500
Ll
)—o—0—To—o
P o __la o 0
4087 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
- | Bml®m | ® % [m % % % & [ m % | % & | % %[5 | & m ® %[ B[ &% oo
c 1
c 300 - : : = - =
:§ ByEt @D24 18:39: ET=1340 Fg=1370. 0 Ro=nan : L 1500
< i
2200 - 1000
= 100 - - 500
p—— =] 4 <)
8 P PN PN 0
4004 O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
- | Bml®m | ® % [ % % % [ m % | % & | % w5 | & m® %[ B[ &% oo
= 1
c 300 - : : = - =
:§ ByWoFv @D2§ 02:41: ET=1135 Fg=1440.0 Ro=147.0 L 1500
o 1
< -
2200 ! - 1000
- ) o—o—1o—o
1.0 o o o e R .
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.8 1 &8 B B G B B B G B B B G B B B G B B B G B B B G
0.6 -
0.4 1
0.2 A
2808 3 | A
1500 - [ ) | _obs
—@— PPFD obs
1000 +
500 A

RH_obs
RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



12.

12.

11.

11.

11.

11.

11.

11.

11.

11.

11.

11.

37.

36.

36.

35.

35.

34.

34.

25 -

00 -

75 1

50 A

25 -

00 A

M_E

T
500

T
600

700
m=720,n FV0=0

T
800

30 A

28 -

26 A

24 -

22 A

20 A

——

M_E

720

7é5 750
m=600,n FV0=0

——

M_W

600

605 610

11.

11.

11.

11.

10.

10.

10.

11.

11.

11.

11.

11.

11.

m=510, FV0=0

——

M_E

00000000000 0090

T
510

5%5 5é0
m=810,n FV0=0

80

78 -

76

74

72

70 A

——

M_E

T
810

8%5 850
m=660,n FV0=0

39 4

38 -

37 A

36

——

M_W

660

665 670

11.

10.

10.

10.

10.

10.

m=600, FV0=0

00 A

98 ~

96

94 -

92 -

90 ~

M_E

11.

11.

11.

m=660, FV0=0

10

08 -

06 -

600

T
605 610

40 -

38 -

36

34

M_W

500

T
600

700
m=720,n FV0=0

T
800

40 -

39 A

38 -

37 A

——

M_W

720

725 730

11. 04 A

11. 02 A

11. 00

|

—&— M_E

660

6é5 6%0
m=510,n FV0=0

36. 0

35.5 A

35.0 A

34.5 -

34. 0 -

33.5 A

—0—

M_W

510

5%5 5&0
m=810,n FV0=0

40 -

39 A

38 -

37

—0—

M_W

810

815 820




